Negative Zahlen mit Klammern (3)	                  Name __________________
Löse die Klammer mit ihren Vorzeichen auf und rechne aus:
[bookmark: _Hlk116827093]1)	(+3) – (+7) =  + 3	– 7 =										–4
2)	(+5) + (– 6) =   											–1
3)	(– 6) + (+ 9) =   											+3
4)	(– 2) – (– 8) =   											+6
5)	(– 5) + (+ 5) =   											0
6)	(+ 8) – (– 7) =   					    						+15
7)	(+9) – (+5) =   											+4
8)	(+3) + (– 6) =   											–3
9)	(– 5) + (+ 6) =   											+1
10)	(– 8) – (– 4) =   											–4

11)	(–4) – (+6) + (+2) – (+3) = – 4 – 6 + 2 – 3 =						–11
12)	(+7) – (+4) – (–2) + (–1) =   									+4
13)	(+6) – (+4) – (+8) + (–3) =   									–9
14)	(+4) + (–1) + (+7) – (+8) =   									+2
15)	(–12) – (+4) + (–25) – (+6) =   								–47

Findest du eine Regel?
+ (+) 		
– (+) 		
+ (–) 		
– (–) 		+
